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QUESTION 111
Which three statements are true when configuring virtual routing interfaces? (Choose three.)

A single virtual interface can be used to route traffic between all VLANs within the same switch.
Each VLAN on a switch requires its own virtual interface.

A virtual interface can be a member of multiple VLANS.

A virtual interface can have multiple IP addresses.

Hosts in a VLAN can use the IP address of the virtual interface as their default gateway.

moow>»

Correct Answer: BDE

QUESTION 112
You are configuring multiple VLANS using only untagged ports on two switches. Which statement is true?

A. All traffic between switches will use 802.1g.

B. All VLAN traffic can use a single untagged uplink port.

C. Untagged ports can be placed into multiple VLANS.

D. Each VLAN requires a dedicated uplink between switches.

Correct Answer: D



QUESTION 113
Which two statements about LAGs are true? (Choose two.)

A LAG provides load-sharing.

A LAG provides sub-microsecond failover,

A LAG can contain links of different speeds.

A LAG is treated as a single logical link by the switch.

Cow>»

Correct Answer: AD

QUESTION 114
Your company uses OSPF and has recently purchased another company that uses RIP.

Management requires that routes between the two companies be shared without interrupting services on either network. How is this implemented?

Enable route redistribution in both RIP and OSPF on the DR.
Enable route redistribution in both RIP and OSPF on the BDR.
Enable route redistribution in both RIP and OSPF on the ASBR.
Enable route redistribution in both RIP and OSPF in the ABR.

Cow>»

Correct Answer: C

QUESTION 115
What are two valid BPDU types in Spanning Tree 802.1D? (Choose two.)

Configuration BPDU

Root Override BPDU

Failure Notification BPDU

Topology Change Notification BPDU

Cow>»



Correct Answer: AD

QUESTION 116
When using CIDR notation, what is the default route in an IPv6 configuration?

A. /0

B. 1001:ffff:0:0:0:0::VI28
C. 1001:ffff:0:0:0::y0

D. ffff.:/36

Correct Answer: A

answer is right.

QUESTION 117
What are two Brocade stackable products? (Choose two.)

Brocade Fastiron SX
BrocadeFastlronCX
BrocadelCX6430
Brocade MLXe

Cow>»

Correct Answer: BC

great answer.

QUESTION 118
You have just configured a new Multi-Chassis Trunk between two Brocade MLXe chassis.



Which protocol information will be distributed across this link?

IPv6
BGP
RIPv2
STP

Cow>»

Correct Answer: D

good answer.

QUESTION 119
Which two statements about ingress extended ACLs are correct? (Choose two.)

They use extended ACL IDs 200 - 299.

They save network resources by reducing traffic.
They eliminate denial of service (DoS) attacks.
They block unwanted traffic or users.

Cow>»

Correct Answer: BD

QUESTION 120
Which statement is true of an access control list (ACL) on a Brocade IP device?

Only outbound ACLs can be used on any Brocade IP device.

The ACL takes effect immediately after being applied to an interface.

An ACL is immediately applied to all physical interfaces once the ACL is configured.

Standard ACLs can be used to control traffic inbound or outbound based on source and destination addresses.

Cow>»

Correct Answer: B



QUESTION 121
When 802.Ip priority override is enabled on the primary port of a trunk group, which other ports of the trunk group will be affected?

all ports except the primary trunk port
some of the trunk ports

only the primary port of the trunk group
all ports of the trunk group

Cow>»

Correct Answer: D

QUESTION 122
What are the three available QoS scheduling algorithms available on Brocade Netlron and Fastlron products? (Choose three.)

weighted round robin
strict priority
first-in-first-out
hybrid

deficit round robin

moow?>

Correct Answer: ABD

QUESTION 123
Which QoS mechanism would you use to set the DSCP value specified of an outgoing packet?

A. dscp-cos-mapping



B. dscp-matching
C. dscp-marking
D. internal-priority-marking

Correct Answer: C

QUESTION 124
sFlow uses which method to send data to a collector?

multicast
broadcast
TCP port 6343
UDP port 6343

o0y

Correct Answer: D

QUESTION 125
Given the command output shown below:

de(config)#mirror-port ethernet 1/2/4
Brocade(config)#interface ethernet 1/2/11
Brocade(config-if-e100-11)#monitor ethernet 1/2/4 both

What do the Brocade commands accomplish?

A. They allow all traffic on interface ethernet 1/2/11 to be replicated on interface ethernet 1/2/4 for analysis
B. They allow ingress only traffic on interface ethernet 1/2/4 to be replicated on interface Ethernet 1/2/11 for analysis.
C. They allow all traffic on interface ethernet 1/2/4 to be replicated on interface ethernet 1/2/11 for analysis.



D. They allow egress only traffic on interface ethernet 1/2/4 to be replicated on interface Ethernet 1/2/11 for analysis.

Correct Answer: A
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